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1.Note: This question is part of a series of questions that present the same scenario. Each question in the 

series contains a unique solution that might meet the stated goals. Some question sets might have more 

than one correct solution, while others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these 

questions will not appear in the review screen. 

You deploy the first primary site server to your organization. Discovery is not configured. 

You need to deploy the Configuration Manager client to five client computers in a workgroup. 

Solution: You deploy the client by using a software deployment. 

Does this meet the goal? 

A. Yes 

B. No 

Answer: B 

Explanation: 

References: 

https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 

 

2.Note: This question is part of a series of questions that present the same scenario. Each question in the 

series contains a unique solution that might meet the stated goals. Some question sets might have more 

than one correct solution, while others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these 

questions will not appear in the review screen. 

You deploy the first primary site server to your organization. Discovery is not configured. 

You need to deploy the Configuration Manager client to five client computers in a workgroup. 

Solution: You configure client push installations. 

Does this meet the goal? 

A. Yes 

B. No 

Answer: B 

Explanation: 

References: 

https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 

 

3.Note: This question is part of a series of questions that present the same scenario. Each question in the 

series contains a unique solution that might meet the stated goals. Some question sets might have more 

than one correct solution, while others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these 

questions will not appear in the review screen. 

You deploy the first primary site server to your organization. Discovery is not configured. 

You need to deploy the Configuration Manager client to five client computers in a workgroup. 

Solution: You manually install the client on the computers. 

Does this meet the goal? 

A. Yes 

B. No 

Answer: A 



The safer , easier way to help you pass any IT exams. 

3 / 3 

Explanation: 

References: 

https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 

 

4.Note: This question is part of a series of questions that present the same scenario. Each question in the 

series contains a unique solution that might meet the stated goals. Some question sets might have more 

than one correct solution, while others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these 

questions will not appear in the review screen. 

You deploy the first primary site server to your organization. Discovery is not configured. 

You need to deploy the Configuration Manager client to five client computers in a workgroup. 

Solution: You deploy the client by using a Group Policy installation. 

Does this meet the goal? 

A. Yes 

B. No 

Answer: B 

Explanation: 

References: 

https://docs.microsoft.com/en-us/sccm/core/clients/deploy/deploy-clients-to-windows-computers 

 

5.Note: This question is part of a series of questions that present the same scenario. Each question in the 

series contains a unique solution that might meet the stated goals. Some question sets might have more 

than one correct solution, while others might not have a correct solution. 

After you answer a question in this section, you will NOT be able to return to it. As a result, these 

questions will not appear in the review screen. 

Your company has client computers that run either the 32-bit version of Windows 8 or the 64-bit version of 

Windows 10. 

You need to install a line-of-business application to the computers. The 64-bit version of the application 

must be installed on the Windows 10 computers. 

Solution: Create one application that has one deployment type. Configure two requirements for the 

deployment type. 

Does this meet the goal? 

A. Yes 

B. No 

Answer: B 

Explanation: 

References: 

https://blogs.technet.microsoft.com/canitpro/2013/06/02/step-by-step-managing-multiple-versions-of-the-

same-application-via-system-center-configuration-manager/ 

 


